D1°%¥D DOP NITO

8=12/7 7-1 "9212 2 NN ,1=-5/7 A=T 212 = 1 NN
D or T or a o ‘a o N_or
ANINND NAXD | NAINAD NAYN NAXD | NIMNN NAXD
[ ]
oTIP 0N oTIR DN | DD NINNN oTIp Orn a3 Mwo
i MmN T
D'MAYN NIdN oy MdN l oy NMdN APYYD NY5D
(OW'D) [ 1DRD MPE | NINA NN qon nqava |’ mu:\ n3 3_;'
a1'rwa DV VaVI | DA'WPS0ID | MI¥A WA ! m‘)-:; -
MmN aAYIND | 19NN i
D' N9'0 NN’
PONOY ATIONP 1a% anwa T o9'x 10
MVEPAD | qexr aMaY | ArYYY Ny 00N
nwan oy
NM2AOD VYD I'N D17 Yo D' IT'AN NN
oy aTMay Y
nYY VINN DITY 2% WY TN N NN :019'%%
D TINND e mannn ,JNO'0N
[
mamnY ,0'%mn0
T YON ,D'0%
oMYy 'Y
N¥D PNYD
(LN NN
manna
apoon apoon apoon apoon apoon
019'0 MV - MNY D19y 2100 D'y
AT 1a% ("om
p— MND W'Y N0 DINY | nmeno 33390
MYUN MY nMADNA | qawn mavep
v | W00 ot
D'VPON
o9 '¥a
D' IT'AND




